HEFE (DWWAEE - S5 FEEAFHE)

& i = @& R
a—REH #iB X % ::
% ® B Bl ane| 15 24 3% 24 3%
B K o E = 2 2
BH [E & x [ 2 2
= m [ 3 4 3 3 2 3
E [ B &' x| 4 3 2 2 2
BHROEESZE 2 — 2
#o OB @ & 2 2 2
w B E 7 = 3 3
m [E__%£ & & 2 2
E B A& % & =z 3 Q% | o 4%
w B R = #® % 3 = -
BASBZFEFREE 2 — 2
R EE L —
VAS i+
DR : : =
T ¥ 1] 3 2
ol E o] 4 1 3 3
A = m{ 3 1 2
0 2 Al 2 2
A = B 2 2 2
=T = cl 2 2
B E I A EE 2 2
MFZIIABES b 5
BFIITMABCEE| 2 2
- 2
) | 4 2% 4%
m pb ¥ E B[ 2 2
I3 2] 4 2 4
w £ W E w2 2 2
£ | 4
Pt = & B E 5 2 2
[EEE B Bl = 2
S B[ 1~8 3 3 2 3 2
7 = w2 | 1 — 1
kB & = 2 3
- B ES 1] 2 | 2
= |£ it 1l 2 |4
.= E 1 2 |-
ifr F © = 2 —
HEE1Iaz=y—vavl 3 3
HEEQAIaZHy—avl 4 4 4
% FEE2zaz=4y—ravm| 4 4 4
=z | B x® B/ 1 2 2
Yol E - % 8 0| 2 2 2 _] 2 2
HEII2=Hr—a IEE 2
RE |®R B & B 2 2 2
15 3| |iF R 1] 2 2
HoE A at 30 30 19~30 30 30
E < x X & B 2~4 —]
ERE N =] 2~6
B w3 2~4 -
= JryvarvERER 2~6 —
RE STy 1 9<6 =
EElE %[2~12 —
XA Bl 2~12 —J
ETGERR 0 0 0~11 0 0
BRI At 30 30 30 30 30
% v B4 v B A4 L]~ [ 1 1 1 1
=] 7 & | 1~7 O ] ] O O
& i _ 31 31 31 31 31
A E T R—LIL— L E ) [ — 1 — — 1 1
THATRREE] 3 BALRR] 228 R-BBELES
MHREFEREE (T MHRFIER] £2E8RBELLE
fi =




